2025F EAFHEBRERNR (F T H-F1HD

B RTHIRTE

EIH S % (20248 A=)

BB E (202552 A =)

8 % =g —H%ER EEIETIR$ e ANEAIER —H%ER BEEERIER e ANEAIER
SR 2B 548 | BR ORBR o | SR OB OOn | TR 2R a8 | TE 2R o | SE ORB o
S g mw | mw mm = | E =m mw | mm mm =k | w2k mw mw | Em =N =
HERIREBER FER| 53 44 40 35 1 1 1 4 3 3 4 3 3 0 0 0
BTREFEK 47 72 71 54 6 4 0 1 1 1 6 6 4 3 2 2 0 0 0
HEREFER 27 18 15 10 6 5 2 1 1 1 4 4 1 14 13 11 1 1 1
&it 127 || 134 | 126 | 99 13 10 3 2 2 2 14 13 8 21 18 16 1 1 1
BEEERE
FEIHEE (20248 A=) FIHEE (2025F2 A=)
5 =8 —hH%ER BEEERIER & AERIER —hH%ER BEEERIER & AERIER
TR =R G| SR R AR | S R OSSR 2R SR | ERE 2R &K | SB 2R &%
B EY BRI ER EH O EH(EHR O EHR BRI\ EH EH OERIEH EYH BRI ER O EH Y
HERIRIERIFER| 24 7 6 6 2 2 2 1 1 1 5 5 5 0 0 0 1 1 1
HMHRBEPER | 21 3 3 3 3 3 2 0 0 0 1 1 1 1 1 1 1 1 1
HLREFER 13 0 0 0 0 0 0 2 2 2 1 1 1 0 0 0 2 2 2
= 58 10 9 9 5 5 4 3 3 3 7 7 7 1 1 1 4 4 4
2024 FEMAZRERERINR
ERIHAEREE
MAFE(2024FE8A=f)
8 % =g —H%ER BEEERIER e NEAIER
SR 2B 548 | B OB o | S ORB o
B EH BRI ER EH EH | ER ER | EH
HMRREMFER | ET4A| 1 1 1 0 0 0 0 0 0
BTREFER |BHF4| 0 0 0 2 1 0 0 0 0
HEREFER |BHT4| 1 1 1 5 4 3 0 0 0
&it — 2 2 2 7 5 3 0 0 0
BEEERE
MAF(2024F8AEHh)
5 =g —hH%ER BEEERIER & AERIER
TR 2R & TR =ER A1 | ER 2R &%
B Y BRI ER EBH O EH | EHR O FH | EH
HEKIRIERFER | T4 1 1 1 4 4 4 0 0 0
HTREFER |&HT4| 1 1 1 0 0 0 3 3 3
#HLBREFER |ETF4| 1 1 1 0 0 0 3 3 3
A&t - 3 3 3 4 4 4 6 6 6




